RESOLUTION NO. 38-// CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER _	John	Beals	ON THE
19th DAY OF September			

A RESOLUTION ACCEPTING THE BID SUBMITTED BY L.J. DEWEESE COMPANY, INC. FOR THE CONCEPT EAST DITCH MAINTENANCE PROJECT IN THE CITY OF CENTERVILLE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the Concept East Ditch Maintenance Project, according to specifications prepared by the City, and

WHEREAS, the L.J. DeWeese Company, Inc., was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

- Section 1. That the bid submitted by L.J. DeWeese Company, Inc. of Tipp City, Ohio, for the bid price of \$59,725.25 is hereby accepted, a copy of which is attached hereto, incorporated herein and marked at Exhibit "A".
- Section 2. That the City Manager is hereby authorized to expend up to an additional \$15,274.75 or approximately 25 percent for a contingency, if additional work become necessary, making the total amount approved \$75,000.00.
- Section 3. That the City Manager is hereby authorized to do all things necessary to execute a contract with L.J. DeWeese Company, Inc., as stated above.

Section 4. That this resolution shall take effect on the earliest date allowed by law.

PASSED this 19th day of September, 2011.

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

BIDDER'S PROPOSAL

Concept East Ditch Maintenance

Submitted by: L.T. De Weese (D. Mc
Having read the specifications and examined the drawings included herein:
Concept East Ditch Maintenance City of Centerville, Ohio
for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:
A. STATEMENT BY ALL BIDDERS:
The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.
Addenda No Date
Addenda No Date
Addenda No Date
B. COMPLETION DATE INFORMATION
The bid price reflected above represents a completion date for all work and restoration with temporary seeding no later than November 23, 2011. Final restoration will be required by June 1, 2012.
C. CONTRACT PREPARATION INFORMATION
The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.
NAME OF COMPANY/CORPORATION: L.J. DeWelse Co Inc
NAME OF PRESIDENT: JUSTIN HUNCH
ADDRESS: 3616 Tipo-Constante Rol
CITY, STATE, ZIP: Tigo Caly Ohio 45371
FEDERAL TAX I.D. #:
TELEPHONE #: 937-440-1736
FAX#. 937-441-6745

E-MAIL: Klaibure @ Jahoo. Com
D. EXECUTION OF PROPOSAL
NOTE: Failure to sign proposal shall result in rejection of bid.
THIS PROPOSAL SUBMITTED BY: LT. DE NOCAL CE MY
(NAME OF CONTRACTOR)
BY: ///
(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
(PRINTED NAME AND TITLE)
(PRINTED NAME AND TITLE)
DATE: SUPL 14 2011
Contact person for Contract processing: Decemy Heach or Kristen Dilhure
Mailing address if different from above: Same

PROJECT NAME: Concept East Ditch Maintenance

PROJECT NUMBER: SS-6A-11

THE CITY OF CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE PART OF THIS PROPOSAL AND MAY BE REFERENCED FOR A MORE COMPLETE DESCRIPTION OF THE ITEMS LISTED RETURN ONE (1) FILLED-IN COPY OF PROPERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS

GRAND TOTAL			59 -	725.25		
10	659	Seeding and Mulching	4805	SY	1 10	5285 至
9	613	Low Strength Mortar Backfill	3	CY	155	465-
8	608	Concrete Wall:, 4"	280	SF	4.	1120
7	607	Fence, Temporary	1035	FT	2	2070
6	601	Concrete Slope Protection, 6"	80	SY	1007	8000 -
5	451	Reinforced Concrete Channel, 4"	165	SY	100	16500 -
4	209	Ditch Cleanout	985	FT	9 35	9 209 75
3C	207	Rock Check	4	EA	200	KD0 -
3B	207	Filter Fabric Ditch Check	140	FT	5	700-
3A	207*	Silt Fence	200	FT	0, -	400,-
2	202	Concrete Channel/Slope Protection/Walk Removed	275	SY	4-	2475-
IB	201*	Tree Removed (12"-24") including stump removal	1	EA	400 -	400 -
1A	201	Clearing and Grubbing	1	LS	12300 -	12300 -
REF NUM	SPEC	DESCRIPTION	EST'D QUANT	UNITS	UNIT PRICE	AMOUNT BID

^{*} Contingent item to be performed only at the discretion of the City Engineer.

EXECUTION OF PROPOSAL

NOTE Failure to sign the proposal shall result in rejection of the bid

THIS PROPOSAL SUBMITTED BY: L.T. De Willy Co. Inc.	
NAME OF CONTRACTOR SIGNATURE Contact person for contract processing Welny Hounge Keiller Dilburg Mailing address if different from above: 5,700	DATE Sept. 14, 2011
CONTRACT PREPARATION INFORMATION	
The bidder shall supplement the proposal by supplying the following information for use in the preparation of the Contract.	
COMPANY 1. J. DUNDELSE CO MC	
BY: / / //	
TITLE PICTO JOH	
ADDRESS: 3616 Trac-Coralian ill 181. Tractitu Uhic 45371	
PHONE 937-440-1736	
FAX 437-440-6745	
EMAIL ICICIIDANC CYGLOU (CA)	
FEDERAL TAX ID 31 U(00318 C	